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1 XkH FEX Pty g 5 RILEEBTBG 32 35 67 1
2 HFLE AIX =7 5 fBWWTBG 32 36 68 2
3 Bl E =7 8 FWHTBG 35 35 70 4
4 XiE B= =7 8 #BILTBG 39 31 70 4
5 R %= Pty g E:] TBGfaL11W 33 37 70 4
6 BE BT Pty g 5 KEpAIST 35 36 71 8 15
7 Rk E5F Pty g E:] £5IGTBGREITFE 39 32 71 8
8 WH =t =7 3] BHRLTBG 39 34 73 14
9 (1T P2=l g 5 EFAELENLYST 40 33 73 14
10 FHL EE P2=l g 3] #BILUTBG 40 33 73 14
11 KR —% =7 8 E9357 42 34 76 23
12 A aTEE Pty g 5 EETBG 36 42 78 26
13 WA =K D=ty 4 8 BRAZOA 36 43 79 29
14 FK EF Pty g 8 =EERTBG 43 36 79 29
15 Bk EX 2=l g B | MBESrLILUX 40 39 79 29
16 ¥E Bt =7 3] #=ILUTBG 44 37 81 37 12
17 FiR KX Pty g 8 ZIUTTBG 46 35 81 37
18 SH B=x Pty g 3] =4&TBG 45 37 82 40
19 K BX Pty g 8 ZEIUTTBG 45 39 84 45
20 BE HRIEX =7 5 tEBH= 44 42 86 49
21 BRE 4= =7 8 Bl A= RS 46 41 87 51
22 B8 =KER D=ty 4 3] EETBG 42 45 87 51
23 A {RR P2y 4 8 EE9357 45 43 88 55
24 EH &% =7 5 BXIk 47 43 90 60
25 ke —&B Py 4 B | MBEIrLILUX 47 46 93 63
26 HE R Pty g 5 BRAZOA 53 41 94 64
27 m/R % 2=l g 5 fBILTBG 48 46 94 64
28 Tl FISE D=ty 4 5 tEH= 56 41 97 69
29 A EE Py 4 5 fBILTBG 49 49 98 70
30 DA BAR P2=ld 8 TBGfaL11W 55 44 99 71
31 & —# Pty g 5 tEH= 51 56 107 76
32 AKX F= Pty g 5 FETTBG 66 71 137 79
33 fRlR B Pty g E3] ZIUTTBG
1 B 7% —hg 8 =EETBG 36 35 71 8
2 184 8h — % B | E® Ubifir<X 34 38 72 11
3 sl E— — & 8 TBGfEWL11W 38 34 72 11
4 XE M — & 5 BETBGHST 33 39 72 11
5 =g B— — & 8 =FBR]TBG 39 35 74 17 12
6 BEX R —h& E3] FETTBG 39 35 74 17
7 Nt BESE — % 8 BRAZOA 37 37 74 17
8 WIR f@x — % 5 BRAZOA 39 36 75 21
9 fem = —hg 8 EILHTBG 38 39 77 25
10 Bl Bz — % 5 KbpAIST 36 43 79 29
11 B % —hg 2B fBILTBG 43 36 79 29
12 fall @E— —hg E:] BRAZOA 41 39 80 34
13 & s —hg 2 |ZERTANHLTBG 43 37 80 34
14 B EX —f% 5 TBGREW11W 43 38 81 37
15 EH 8BS — % 5 KEpAIST 40 43 83 42
16 WA F— —hg E:] FETTBG 41 42 83 42
17 [1T]=: 7R — % 8 =4&TBG 43 40 83 42
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18 R —E —h& 5 FETTBG 45 40 85 48 5

19 NI 3 —h& 2B EETBG 43 43 86 49

20 EiRME B — % 5 BRAZOA 46 41 87 51

21 HE B2 — % 3] EETBG 47 41 88 55

22 wig =7 —h& 3] EILHTBG 41 47 88 55

23 F#H £=—8 — & 5 BETBGHST 42 47 89 58

24 XH 2 —h& 5 KEpAIST 49 43 92 62

25 IWE FiE —h& B | MBEIrLILUX 47 49 96 68

26 =iE #hA — % 8 EETBG 51 49 100 72

27 Xk BE — % 5 EETBG 51 52 103 74
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1 HLE =F -gic = fBILTBG 35 34 69 3
2 HEIE WE -8 = EETBG 33 37 70 4
3 & XF -gic = LEHE 42 32 74 17
4 BE =F -gic = EEH3T 37 38 75 21
5 WA 723F -gic = EFATLENLYST 37 39 76 23
6 A #% -3 Z  |[HESYELILYX 38 40 78 26
7 Bl RF -gc S LT TBG 42 36 78 26
8 mHE XF -gic Z | ERX Ubhillr<X 39 41 80 34
9 =K EAF -gc = EILTTBG 43 39 82 40
10 HE EF -gic Z  |HEVYMLILUX 43 41 84 45
11 MW EF -gic = fBILTBG 39 45 84 45
12 R -ZF -gic = BWHTBG 38 49 87 51
13 = e ) -gc = BRAZOA 45 44 89 58
14 WH EF -gic = BHRLTBG 45 45 90 60
15 FLE *33 -gc = fBILTBG 46 48 94 64
16 FH EERF -gc = EE9357 50 45 95 67
17 INEJR EDF -gc £ BRAZOA 54 47 101 73
18 K BF -gic = =FBR]TBG 50 56 106 75
19 $H BEEX -gc = =4XTBG 58 54 112 77
20 B EETF -gc = LEHE 59 56 115 78




